INFRIFE (XF)

No.

FEo =5 K (m)

FER28FEEY - FrL D I1BEREE (35 1)
FRER 13 596.8m

£ 1,3024
K4

(1=>x)L, BFF)

1 810 SH INETH 1= BV

2 790 [EITIGES f5Th B/
3 780 LM 2HTh RRAZ/INVER
4 770 750302 INET PR/
4 770 s a K EEHT EEJ:I::II:IJ\E‘#**
4 770 ON RkF™ EIIR/INER
7 765 MK NVETH EEBUNERR
8 760 E BfETF HEmH HEE/NER
8 760 3214 REFHh ERREINER
10 750 750307 INET FENER
10 750 750312 INVET FEINER
10 750 N.T EHUET KEINMNER
10 750 T.R f2Hm BRAE ;R /INVER
10 750 Y. 1 AT AR /DR
10 750 KS RFH FIIRE/IMNER
10 750 SN RFH FEIIR/INER
17 740 3106 2HTh EIK/NFRR
17 740 30407 AT ES/hE
17 740 3207 oAl &/ NER
17 740 30126 B LU AR/ INER
21 730 Emh BEE HET HEmR/NER
21 730 RN = JRET BEJII/VEAR
21 730 Sl EFHUET A NERR
21 730 HI =M FH/NER
21 730 30207 oAl ES/MER
21 730 3234 24l T/ NER
21 730 S5 Hhiot AE/NER
21 730 DH Hhoh AE/NER
21 730 KK kI FIIR/NVER
21 730 WH BEXE #5:Th TEIE/NVERR
21 730 A9 #5:Th B/
32 725 RO INVET =EUNER
33 720 mm INVET ERINER
33 720 mr INVET ERINER
33 720 R.S = JRHT BEJI/VEAR
33 720 YY EHULET AIENFERR
33 720 S.Y = FRET EH/

33 720 BT Gi=Eadit] JB/NEER

33 720 S. H T AR /NERR
33 720 120 Hhom EIR/INER
33 720 1-7 Hhiot E£EINER
33 720 AN Hhoth RFE/NER
33 720 H.M K FFHT T/ NER
33 720 TH R REDNER
33 720 N.F R REDNER
33 720 YK RF™H FEIIR/INER
33 720 11 RIFTH =EAE/NER
33 720 N RS B5iTh B/
33 720 3205 #5:Th =

50 710 JI#E &FIE HET HEmR/NMNER
50 710 N.T EEULHET AIERNFERR
50 710 K.Hi EEULHET &£ 9 Rl
50 710 =f+=E 2Hm BAET /N
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mE=E 1 il BRET /N
50 710 S.M 2HTh SINER
50 710 30303 AT ES/NER
50 710 30312 tREITh EE/NER
50 710 3226 R EI ™ TR/ DNER
50 710 215 AT KEF/NFR
50 710 2-7 Hhot E£RINER
50 710 =4 Hhoh B ARNER
50 710 3105 B Tmh HEFE /N
63 700 am INET FRINER
63 700 306 RMAT HEA/NER
63 700 NA = ERT EUE/INER
63 700 IK =M FIEVNERR
63 700 HS 2HTh BEEINFR
63 700 3201 i=Eadit] H2Z H/INER
63 700 3208 2HTh RS/
63 700 D.Y 2HTh 2INER
63 700 3102 2HTh EIK/NFRR
63 700 30410 AT ES/hE
63 700 30308 AT ES/hE
63 700 30111 AT ES/hE
63 700 3217 oAl &/ NER
63 700 S. T Hhoh I INERR
63 700 2-10 Hhoh EEINER
63 700 3-14 Hhoh EEINER
63 700 S. T Hhiot I INERR
63 700 YM RFH EIR/NMNER
63 700 K.J = [EHfT MNEINERR
63 700 A6 #5:Th /N
63 700 B12 #5:Th /N
63 700 12H 5T BE/
63 700 K-H #5:Th BT H /R
63 700 S-Y #5:Th fE TR/
63 700 K.S #5:Th Jt g /R
63 700 3218 PNl EREDNER
63 700 3 KEmh INLNVEERR
90 690 hy IINVETH INEINERS
90 690 K.M INETH WK /DNER
90 690 K.Ha EEUVET ESFIINERR
90 690 RS 2HTh BEEMNFER
90 690 NS 2Hm HREE/NMNER
90 690 EE 2Hm NB/NEERS
90 690 3219 2Hmh HzZH/hFR
90 690 KA 2Hmh BINER
90 690 IH 2Hm EKAE/DER
90 690 30408 T ES/hE
90 690 30409 T ES/NER
90 690 3209 T TEE/INER
90 690 3222 T TEE/NER
90 690 126 Hhiot ElR/INER
90 690 1-3 Hhiot E£EINER
90 690 2-9 Hhiot E£EINER
90 690 HH Hhoth RFE/NER
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90 690 A& Hhomh AE/NER
90 690 s*i K HT ELbdb /R
90 690 M.S kI REB/INERR
90 690 MK RkF™ EIIR/INER
90 690 LR = Emr INEINERR
90 690 0.A = [EHfT INENERR
90 690 K.M = [EHfT INE N
90 690 YA B Tmh SINER
90 690 3213 B Tmh HEFE /N

90 690 C6 5T h B/
90 690 C18 #5Th /N
90 690 s.r B LU /R
90 690 3222 PN FHEINER
90 690 s3113 Nt TE/MNER
90 690 7 Nt INLINERR
122 680 kn INVETH INEINERR
122 680 hr INET INEINERR
122 680 YA INVETH AN BN
122 680 M.N INVETH 04 B/NER
122 680 ak INVETH EERINER
122 680 um INVETH EERINER
122 680 km INVETH EERINER
122 680 nm INVETH EERINER
122 680 hm INVETH EERINER
122 680 oM INET 0k INERR
122 680 E=305 INETH EE /N
122 680 AR Bf HEh HEE/NER
122 680 OH = FRET SUL/INVERS
122 680 S.M =M FH/NER
122 680 H.M =M FH/NER
122 680 NT f2HmH REEINER
122 680 Ex fi=Eauit] JB/NEER
122 680 3114 2HTh H2Z H/INER
122 680 3210 Gi=Eadit] H2Z H/NER
122 680 3212 Gi=Eadit] H2Z H/NER
122 680 K.H 2HTh RRAEEINER
122 680 30405 AT EE/hFER
122 680 30412 T ES/hER
122 680 30202 T ES/hER
122 680 3210 24l T/ NER
122 680 3212 T TEE/INER
122 680 3229 T TEE/INER
122 680 213 T KEF/NER
122 680 1-6 Hbhom E£EINER
122 680 M.K K FFHT R/ NERR
122 680 M.S K FFHT T/ NER
122 680 YM K FFHT T/ NER
122 680 SK RF™H EIIR/INER
122 680 S.M = [EfT MNEINERR
122 680 N.K = [EfT MNEINERR
122 680 N.A = [EfT MNEINERR
122 680 RE ¥A8 #5:Ih B2 /AR
122 680 Bt B #5:Ih TN
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122 680 C3 f5Th B/
122 680 C7 f5Th B/
122 680 30115 BELL T AES AR /N
122 680 s3109 XEh TE/NER
122 680 s3112 XEh TE/NER
122 680 108 AR HT AT BN
166 670 750315 INETH FENER
166 670 750322 INETH FENER
166 670 T.S INETH A% B/NER
166 670 M.Y INETH NENNE=EA
166 670 —#H EH E S HEFR/NER
166 670 it BEfK HEh HEBE/NER
166 670 WX Bz E S HEmR/INER
166 670 U.A IR HT =FE/INFER
166 670 H.A EHULET A NERR
166 670 SS =M IV NERR
166 670 YM 2HTh BEEINFR
166 670 HK 2HTh BEEINFER
166 670 % 2k 2Hm NB/NEER
166 670 EBiE i=Eauit] NB/NEEER
166 670 —HAE f2Hm BRET /NS
166 670 H.N 2HTh FRAEEINERR
166 670 30208 AT ES/hE
166 670 3208 oAl &/ NER
166 670 3235 oAl &/ NER
166 670 1-4 Hhoth £ERINER
166 670 1S K FFHT INpAlINEE 5
166 670 G.Y K FFHT INpAlINEE 5
166 670 T.R 5% FiT BT e TN 5
166 670 13 RFTH =EAE/NMNER
166 670 HI R+ = EHRT It B /INERR
166 670 MN IR+ TH = EHRT It B /INERR
166 670 N B #5:Th TEIE/INVERR
166 670 30121 B LT BES B/ DNER
166 670 3108 PNl EREDNER
166 670 3113 NSl EREDNER
196 660 hm INETH INEINER
196 660 sr INETH ERINER
196 660 EZ303 INETH EE /N
196 660 it KB HEh HEE/NER
196 660 N.R 5 JEET =F/INFER
196 660 307 ERMAT KEANER
196 660 M.A EEULHET IR NERR
196 660 UK EUEET FH/NDER
196 660 YA EUEET FEVNERR
196 660 UK 5 JEET BEH/
196 660 M.J 5 JEET BEH/
196 660 KT 2Hm BEEEIMNFR
196 660 3211 2Hmh H 2 H/DNER
196 660 3201 2HTh EIK/NFRR
196 660 30306 T ES/hER
196 660 30201 T ES/NER
196 660 30105 R ET T ES/NER
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HiIth = ?-'

196 660 A. M AT iGN
196 660 24 AT KEF/NFR
196 660 K. K hiom IR
196 660 224 hiot EIR/INER
196 660 3-10 hiot FEINER
196 660 ShY hiom AE/NER
196 660 K. K hiom IR
196 660 HhhiL HhHhoh B ARNER
196 660 K.H K EFHT AR /DN
196 660 RH 7K FFHT & /NER
196 660 H.D RFH RER/DNER
196 660 TK RFH EIIR/NER
196 660 HS R FEIIR/INER
196 660 IT kI FEIIR/IMNER
196 660 MM i Th 2INER

196 660 3112 5 Th A=

196 660 3120 5 Th A=

196 660 itk 5T B

196 660 S-R 5 Th TR/
196 660 30119 B LU AR/ INER
196 660 3305 PN EREINER
196 660 I-M KEFmh ESUN




